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2020 = 20l A LEHSH 0 A Dt
EXN: S0 AS D}
HE: =9 FMY L
Sl RO A ADIBTRE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
20l AF S D} 27,799,539 21,899, 197 5,900,342
= 3,708,786
g 271,000
Jl 1,564,071
= 6,803,151
Al 15,452,531
S WA UG 24,832,854 19,288, 180 5,544,674
= 3,678,718
g 271,000
J| 1,564,071
& 5,533,346
Al 13,785,719
N MAD B2 = 5,309,384 4,616,468 692,916
= 421,620
J| 936,530
o= 1,333,360
Al 2,617,874
SSHE0F HIUHXE2ZAE XN (AEKd0HXOIE2S 802,276 200,943 601,333
£3})
= 320,910
& 144,410
Al 336,956
402 SI2FXHE0| & 802,276 200,943 601,333
= 320,910
& 144,410
Al 336,956
02 BIZtXIEANYEX(0OIETHA) 802,276 200,943 601,333
OOIAX E2AIE X8 (11,0008 *145,8581 +5
0%) 802,276
= 320,910
= 144,410
Al 336,956
ATHECRNES 125,063 125,063 0
2 100,050
& 7,504
Al 17,509
301 et A= 125,063 125,063 0
= 100,050
& 7,504
Al 17,509
12 J|IEtE2 A= 125,063 125,063 0
O ZAHEL2IXNY XMNEAEHM BaZ (752 %1,66
7,000m") 125,063
2 100,050
= 7,504
Al 17,509
SMEHNSHED 240,000 390,000 A 150,000
402 SI2FXHE0| M 240,000 390,000 A 150,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 240,000 390,000 A 150,000
OsdtEMeSMEn &
6,000,000& *80CH x50% 240,000
St = 2,000 2,500 A 500
202 Odl 2,000 1,500 500
01 = LH 4 Hi 2,000 1,500 500
ONHSHESSH 1@ U X0
50,000& *40H 2,000
AN S0 AD B = 202,500 185,000 17,500
402 RI2HXt20l 202,500 185,000 17,500
01 212t 2 A E = (REMTH ) 202,500 185,000 17,500
O3NE & 23MY NE
7,000,000& » 153 x50% 52,500
ORIZE DEF MauN
250,000& *800= *50% 100,000
OAMHoRA AXAIGH HASE RSt ELME
A& 400, 000& «250= *50% 50,000
ZOUAESS(AUZS BIJIEGIRA AlE X&) 500,000 500,000 0
402 RIZ2EXt20l ™ 500,000 500,000 0
01 212t 2 AL E = (REM &) 500,000 500,000 0
OJ0== HIotg oteA X K&
25,0003 *40,000m" x50% 500,000
AN&oteA =&Y 2 HFSZHS Y £X X 80,000 90,000 A 10,000
%
402 2I2H X201 M 80,000 90,000 210,000
01 2I2F 2 A B (RERTH ) 80,000 90,000 A 10,000
OANEst2A =&Y 2 MFSZHL Y
X K& 5,000& *32,000m" x50% 80,000
ARSI ASIIEEY 3,000 3,000 0
203 ¥R =&l 3,000 3,000 0
03 A=A H I =AH| 3,000 3,000 0
OJ0AS AlIRMZFA 3,000
SEXNE SFMLIRNB (NG SSFESHILo2A & 761,879 1,081,200 A 319,321
X)) (&)
< 634,899
Al 126,980
402 RI2EXt20l ™ 761,879 1,081,200 A 319,321
< 634,899
Al 126,980
02 RIZt X2 AL EZ (OIS ) 761,879 1,081,200 A 319,321
OXNYEs ESHIEa*A 4
755,721,000 *60% 453,433
< 377,978
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Al 75,455
OXEEANE =50t S8
514,076,000& *60% 308,446
< 256,921
Al 51,525
AMERWSE U XA 2,164,494 1,480,113 684,381
| 865,797
< 389,609
Al 909,088
402 RI2HX=01 M 2,164,494 1,480,113 684,381
| 865,797
< 389,609
Al 909,088
02 QI E2AS EZ (01X THE) 2,164,494 1,480,113 684,381
OAl & 20l & CH 3t A (4,328,983, 000 *50%) 2,164,494
| 865,797
= 389,609
Al 909,088
DFHIDIEMBIAIE X & 59,526 30,000 29,526
| 23,810
< 10,715
Al 25,001
402 RIZERt20l ™ 59,526 30,000 29,526
| 23,810
< 10,715
Al 25,001
02 22t X2 AL E = (01X THE) 59,526 30,000 29,526
OXFHIJE THHHAI & X2 (22,0009 5,411 +5
0%) 59,526
| 23,810
< 10,715
Al 25,001
F0=Z0r ICT 85 XA 93,846 21,900 71,946
| 46,923
< 14,077
Al 32,846
402 RIZ2EX20l ™ 93,846 21,900 71,946
| 46,923
< 14,077
Al 32,846
02 It 2AILSEZ (01 E TS ) 93,846 21,900 71,946
OJ0W=0F ICT 828 XN AMH
156,410,000& *60% 93,846
| 46,923
< 14,077
Al 32,846
AMADIRA 23D T2 93,973 74,760 19,213
< 28,192
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Al 65,781
402 RI2EX20| A 93,973 74,760 19,213
< 28,192
Al 65,781
02 QIZEHEAIL B (01X S) 93,973 74,760 19,213
OANHEGIRARZ I X2 (3,759,000 *50CH *
50%) 93,973
< 28,192
Al 65,781
EXE 220 XA (& & 55,000 110,000 255,000
402 RI2HX=01 M 55,000 110,000 A 55,000
01 2IZE 2 A B (KM ) 55,000 110,000 255,000
ogasE 22l XNAAAY
2,200,000& *50CH x50% 55,000
ANE20 2 GHOIH SIS ALY (& 8H) 124,507 113,188 11,319
< 103,756
Al 20,751
402 RI2EX 20| ™ 124,507 113,188 11,319
< 103,756
Al 20,751
02 QI 2 AL EZ (O TH ) 124,507 113,188 11,319
OANE 20 =2 5H0IH S & AF (207,512,000
24 %60%) 124,507
< 103,756
Al 20,751
S0l OFMES=E LEAIE XA 1,320 0 1,320
=2 660
< 198
Al 462
402 RI2HXt20l 1,320 0 1,320
=2 660
< 198
Al 462
02 2IZF 2 A EZ (01X THS) 1,320 0 1,320
Ondl OtMES=2 ZE AL X2 AL
1,650, 000& *1CH »80% 1,320
= 660
< 198
Al 462
stESRSEds 4,466,582 2,744,174 1,722,408
= 387,154
< 1,254,439
Al 2,824,989
MERNHE LS 19,600 19,600 0
202 odl 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
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SH RO D

g =g ¥y 235
He: siERsSELES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gt Ag 2 10,000,000 =301 = 30,000
HAMBHA 210 150,000& =120 & 50 CH 90,000
HNHA 2DE 001K 2=
500,000& »20CH 10,000
AMUHA 2DE 0I0IK 23
500,000& »20CH 10,000
A28 20 E 2,500,000 * 1004 2 25,000
QI A®E HHUHZ
10,000,000 =301 & 30,000
NotdE A3l 21
5,000,000 =44 & 20,000
OXNY=sS¢tE s238Is 222 ME
2,000& *4,000% 8,000
02 2324l 5,000 3,000 2,000
OZFge 288 dIIe3 500,000& =103l 5,000
307 21201 A 30,000 21,000 9,000
02 IZtE S AIHE L 30,000 21,000 9,000
OL3A0HEH 4EHE 2 BEH XA
30,000,000& =14 30,000
401 AIEHI L 2CHEI 340,000 0 340,000
01 A& tl 340,000 0 340,000
O'Eeiel 2 & &X
340,000,000& =14 340,000
SSNUHSEBXNE (sS4 eI 2435 XH) 24,000 75,000 251,000
< 9,600
Al 14,400
307 21201 A 24,000 75,000 251,000
< 9,600
Al 14,400
02 LB AAFEX 24,000 75,000 A51,000
O=E4= AHUEI gdst XJAY
2,000& 12,0004 24,000
< 9,600
Al 14,400
SENE SSMLSNA(MATGEZRS 2 S0 80,000 80,000 0
g 243 AIY)(HEH
S 50,000
Al 30,000
307 glz2tol & 80,000 80,000 0
< 50,000
Al 30,000
02 It HAHEE 80,000 80,000 0
OMMTI=Ast & SSOHHE LAY
100,000,000& *80% 80,000
< 50,000
Al 30,000
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X ZH -
L= B
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=ANE ZSE0F UK (EX) 510,388 493,338 17,050
=2 255,194
& 76,558
Al 178,636
307 2Iz2to| & 510,388 493,338 17,050
=2 255,194
= 76,558
Al 178,636
02 QI AAIE E X 510,388 493,338 17,050
OsitE Z2s=ot&l NIAY 510,388
= 255,194
=} 76,558
Al 178,636
=AME 2SS0 UK (XA 150,000 150,000 0
307 giztol & 150,000 150,000 0
02 QIZIA AAIE E X 150,000 150,000 0
OsAE ZESE0 XK (244
300,000,000< *50% 150,000
SAME ZSEHY XMH SEAIE(EX)(HEH) 324,064 124,494 199,570
= 233,850
Al 90,214
307 2iz2to| & 118,843 124,494 AN5,651
= 99,036
Al 19,807
02 QIZ2IA AAIE E X 118,843 124,494 N5,651
OsitE 22 XA SsAHY 118,843
o= 99,036
Al 19,807
402 SI2FXHE0| & 205,221 0 205,221
& 134,814
Al 70,407
02 QX2 A EX (0| X THSH) 205,221 0 205,221
OsHE2 23 4H EZ=SHA | ALY (288,000,000
KAx71%) 205,221
o= 134,814
Al 70,407
sHE 2 FH NS 420,000 420,000 0
307 QI2t0| ™ 420,000 420,000 0
02 Q2B AMAIE E =X 420,000 420,000 0
OssldAL s st 2 FHl A&
240,000, 000! * 1Al x50% 120,000
OsgoAHE &0 ss2FHl N
600,000, 000 * 1Al x50% 300,000
SENSE SEMAGX (SAMS AES JISREA 630,000 360,000 270,000
H

=

J(H &)
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SH: s AW 23
He: siERsSELES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 420,000
Al 210,000
402 RI2EX=20| A 630,000 360,000 270,000
< 420,000
Al 210,000
02 QI EAISEZ (OIS ) 630,000 360,000 270,000
OsttE 433 JIBRF ALY
840,000,000 *75% 630,000
< 420,000
Al 210,000
2EFEE NFAS(EX)(HE) 47,010 35,876 11,134
< 22,290
Al 24,720
307 glz2+ol & 47,010 35,876 11,134
< 22,290
Al 24,720
02 It HAMHEE 47,010 35,876 11,134
Ods sdts XA
135,000 9024 20 2 x70% 17,010
< 7,290
Al 9,720
OZZEE ZIHE MitAaH NFEs X 30,000
< 15,000
Al 15,000
FREM2 JIANE XA 1,198,780 338, 180 860,600
< 359,633
Al 839,147
301 LEEBA S 1,198,780 338,180 860,600
< 359,633
Al 839,147
12 JIE243 1,198,780 338,180 860,600
FRsAE JHAGE NAMLBH 25) 1,198,780
S 359,633
Al 839,147
SMA=SAMEXE 420 420 0
201 Let24d] 420 420 0
01 AL 22l H| 420 420 0
OLEA M2 UNSSHE 2993 FA
=g 70,0003 63 420
PEsME(GAP)AIE22 X 150,000 100,000 50,000
= 90,000
< 18,000
Al 42,000
402 UIAX=0IA 150,000 100,000 50,000
= 90,000
< 18,000
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SH: s AW 23
ool sM2RSEAE CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 42,000
02 BIZtXIEANYEX(0OIETHHA) 150,000 100,000 50,000
ORL+ssAZ2(GAP) Al B 2HALY
300,000,000 *1JH & *50% 150,000
= 90,000
& 18,000
Al 42,000
GAP sS4t A Y XJAFE 125,400 0 125,400
& 37,620
Al 87,780
402 SI2F X201 M 125,400 0 125,400
& 37,620
Al 87,780
02 BIZtXIEANYEX(0OIETHH) 125,400 0 125,400
OGAP s&tE2 A THl XIS ALY
209,000,000 *x60% 125,400
& 37,620
Al 87,780
GAP Ol 22| XM H S ALY 21,000 0 21,000
& 6,300
Al 14,700
307 2iz2to| & 21,000 0 21,000
== 6,300
Al 14,700
02 QIZ2HA AAIE E X 21,000 0 21,000
OGAP Ol 22l AH 25 KNIALY
35,000,000 *60% 21,000
& 6,300
Al 14,700
SENME =2 440,000 420,000 20,000
= 120,000
Al 320,000
=EEFNA 40,000 40,000 0
307 2Iz2t0| & 40,000 40,000 0
02 DI AAIE E X 40,000 40,000 0
OsS&2E =sANME WA
2,000,000& x1001 & M 23] 40,000
sSSENNBSEEXE 400,000 350,000 50,000
o 120,000
Al 280,000
307 212t0| ™ 400,000 350,000 50,000
= 120,000
Al 280,000
02 DIZHEAAIE E X 400,000 350,000 50,000
OtldsdE =E2FHl NI AMY
200& *2,000,000kg 400,000
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SH RO D

M = A 235
Ol SSME 23 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 120,000
Al 280,000
SEMUSY 5,687,843 3,002,362 2,685,481
< 2,344,000
Al 3,343,843
[ R=REE RS R =] 1,216,857 170,892 1,045,965
101 1A dl 203,607 57,392 146,215
04 JIZHHZ2Z2XNHEE S 203,607 57,392 146,215
OslE¢el JI2tM 22| 138,644
a2 68,7203 x251 5 86,244
=2 Z2R+H 103,080 67 x5H 34,532
22 5L+ 68,720 x52 x5H 17,868
OdeadaX x4 AN & HM=&HY el 21,991
SIEXNEXNT &2l 68,7202 x5H x72 x23| 4,811
SSEIOot2 X+ 22l
68,7203 108 x 10 23 13,744
NHHASZSRX 7 2l
68,7203 x5 H x5 23| 3,436
OslEad &N 8 WFHZY el 25,792
AENMEXNT 22l 130,260 x5 x5 x23| 6,513
S EIOot2X + 22l
130, 2603 7 H «72 *23] 12,766
NHHASZSRXF 2
130,260 x5 52 *23| 6,513
OslEege =& FIURE A
68,720 x10H « 15 10,308
OslEde SSst&4 2| Al
68,720 x2H 502! 6,872
201 LBt 241,000 39,000 202,000
01 At 22l 37,600 13,000 24,600
OslBd2aX-=24 EH X 1,000,000 73] 7,000
Oslezd a4 2l 500,000& = 12& 6,000
Osl=ge Y ARY 29 BE7Y
600,000& x5& 3,000
Oslegel ¥ el2x ¥ HE2 M
4,000,000& =14 4,000
OF=®e 2 AFA 235 2
600,000 »55+ A 3,000
Ooslege S =M 22X A4
8,000& x15% «503] 6,000
OF=®e Za MY 22= 2Y
250,000& x6H *23| 3,000
Ost&Ea Hogs ¥ F283F 7Y
2,000,000 =14l 2,000
Oglegel L =2 300,000& 128 3,600




SH RO D

X XH - _‘T_%“ Hxed 2t
ol B SRy (9l )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
02 3322l 203,400 26,000 177,400
Osledel BAE RAUE>=Z 5,000
Ooledel dIIea, S423
7,000,000& =122 84,000
OolEdel dot=E 23 3,000,000& =122 36,000
OdlEdel 2IAIE L FHUISX
800,000& 108 8,000
Oossdel & & ¥ KX
2,500,000 = 1CH 2,500
OdJIItE el =22 800,000& »12& 9,600
OslEsg&nora s2J |RA&cltl 7,200
SHE 300,000& »12& 3,600
el s 300,000& x12& 3,600
OslEdel 24 MALTH Itel
18,000, 000& 12/ 18,000
OB=ABNT FLE bgs 7
1,400 50L* 150 10,500
OdslEdel 2els Hes 2
1,400& »100L* 150 21,000
OslEwel MY KB 7Y
1,600& *1,000L 1,600
202 odl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OdlEdy L e 43tE fs #XIO
& 50, 000& x5% »203| 5,000
206 M= tl 91,500 69,500 22,000
01 MHZ 4l 91,500 69,500 22,000
OslEwe 285 ¥ ENPY
8,000,000& 43| 32,000
OoEdel MEE =37 M2 Mz 2
2,500,000& =83l 20,000
OslEde HMEgs =8 4 ¢
2,500,000& x53| 12,500
OsiEdel =84 2¢ 5,000& *1,000%£ 5,000
Oosisdel & 7¢ 7,000 x2,000% 14,000
Osl=ge 5% S W 7Y
20,0003 x25& *43| 2,000
Ooledel stz ¢ 2,500& *2,000= 5,000
OslEge HBEH NP AY
1,000, 000& 14 1,000
401 AIEHIZ 28I 620,000 0 620,000
01 A& Hl 614,132 0 614,132
OXNMAZSZRA KAl 20,000,000 *98.92% 19,784
Osledel SX2el 20,000,000& *98.92% 19,784
S EIOtZ KAl 20,000,000 *98.92% 19,784
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SH RO D

M =g A A
ol BB MR (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozels & T FX2el
20,000,000& *98.92% 19,784
OFXE & RUHAE X2
20,000,000& *98.92% 19,784
OB &% =& 80,000,000 x99. 1% 79,280
Os=22 WH 100,000, 000& *99.28% 99,280
oxigza 2% 40,000, 000& x99.28% 39,712
OolEeel &I dAl Mg2 &X
100,000, 000& *99. 1% 99,100
Oslede Z2X+ =4
150,000, 000& *98.92% 148,380
OWAN EX & HE A
50,000,000& *98.92% 49,460
03 Al =TI 5,868 0 5,868
OXNMAZSZR KRA22] 20,000,000 *1.08% 216
OclEgel &I dAl MEg2 £X
100,000, 000& *0.90% 900
Osledel Z2XF =4
150,000, 000& *1.08% 1,620
O™ X & HE AY
50,000, 000& =1.08% 540
Osiedel |Xl2el 20,000,000& *1.08% 216
O=g&Enota gX 22l 20,000,000& *1.08% 216
Ozels & st&4a |2l
20,000,000& *1.08% 216
OFXE & BUHAE |X2e
20,000,000& *1.08% 216
OB &% =& 80,000, 000& *0.90% 720
O&=2=2 100,000, 000& *0.72% 720
oxingsd 2% 40,000,000& *0.72% 288
405 XHobF S HI 55,750 0 55,750
01 AL 2 ZFH S| 55,750 0 55,750
Oosedel & &I 7¢ 1,200, 0002 = 1CH 1,200
OoEdel SN 471 #+& 2,500,000 = 1CH 2,500
OslE%e LE= HEEH 7Y
1,500, 0002 *1CH 1,500
OsiEdel HEA ZEE P 550,000& «104 550
o4l e (62E) 2,500,000 =8AI E 20,000
OHIOIZE ME FL(SARELE)
3,000,000& = 10MI E 30,000
SIESH 192,986 20,040 172,946
101 @14l 32,986 20,040 12,946
04 JI2ZtHZ22EE = 32,986 20,040 12,946
OolEdel 2243 (SH) AFYE 22|
68,720 x12F 102! 43| 32,986
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 160,000 0 160,000
03 A2 Z Hl 160,000 0 160,000

OMAZ =H OIHE DAHE
40,000,000& *43| 160,000
SENY SEAGSNA(JHEAS 8 58 &sH)( 760,000 760,000 0
Ex)(&E)
< 600,000
Al 160,000
307 glz2+0l & 445,000 445,000 0
= 425,000
Al 20,000
02 HAFHAANGFEE 445,000 445,000 0
OAMHE 2F 110,000
< 90,000
Al 20,000
Ous & Aoru 15,000
< 15,000
OGlEM3MY ¥ R&D 60,000
< 60,000
ORs & E20HHE 200,000
< 200,000
OslEsgnga2egdst 60,000
< 60,000
401 Al HI L 2 THHI 315,000 315,000 0
= 175,000
Al 140,000
01 A& Bl 312,732 312,732 0
OoslEdel 2224 312,732
< 173,284
Al 139,448
03 A& S THHI 2,268 2,268 0
OAl& 2| 2,268
< 1,716
Al 552

NAd=sMad AHNEA(SESI N ES MCELE 30,000 30,000 0

)

308 XX EHSOIA 30,000 30,000 0

07 IXNHHAR S = 30,000 30,000 0

O=ZESa NS MCELS

30,000,000 =14l 30,000

22 THENL A (S Egel)(EX)(HE) 3,488,000 1,512,000 1,976,000
< 1,744,000
Al 1,744,000

401 Al I 28I 3,488,000 1,512,000 1,976,000
< 1,744,000




SH RO D

X ZH: =
(=R IR

Sl BHEMARY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 1,744,000
01 A& HI 3,475,444 1,506,557 1,968,887
OXelatsie8del M2 & Hetel &X 3,475,444
< 1,744,000
Al 1,731,444
03 Al 2 THHI 12,556 5,443 7,113
OXiclatoiEde] M0 & Htel &X 12,556
W==SFMA D2 = 2,311,205 2,590,683 N279,478
J| 627,541
< 26,987
Al 1,656,677
e PR 900 0 900
201 ¢er24| 900 0 900
01 At 22l 900 0 900
OUNAMASSXHAY HAXEIL SOMH WA
150,000& 65 900
DAY 562,700 312,700 250,000
402 RI2EX20| N 562,700 312,700 250,000
01 2I2F 2 AL E = (REMTH ) 562,700 312,700 250,000
ONBE Z& MAMET XA 512,700
OAMDL FBSet A4 40003 +25,000m x50% 50,000
== A BEAI A 105,000 105,000 0
402 RI2HXt20l ™ 105,000 105,000 0
01 212t 2 AL E = (REM &) 105,000 105,000 0
Ox=Jt 2F ()X
7,000,000& *30Z *x50% 105,000
DEE =44 XA 680,000 700,000 A 20,000
402 RIZ2EX201 A 680,000 700,000 220,000
01 U2 EALE X (KA R) 680,000 700,000 220,000
Ot U2 ANEAZYON X
26,000,000& *20CH x50% 260,000
Ot DAXHAIX XIS
16,000, 000& *30CH x50% 240,000
Ol XA 14,000,000 »5CH x50% 35,000
OXS (&)< 3,000,000& *20CH x50% 30,000
Ol dollgXIsg8 2271 XN&
6,000,000& »20CH x50% 60,000
Ot M2Ilof olX&
50,000& *2,200H x50% 55,000
EEXE MLEXR 70,000 106,000 A 36,000
402 RI2FX=201 M 70,000 106,000 A 36,000
01 2I2E 2 A B (KR 70,000 106,000 A 36,000




S R0l
B =9 M L
SEl DASHYN J|YRE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSg &2 sS8XE 70,000
sg2d XN 7,000, 000& *63 *50% 21,000
Mas HE |4 N
2,500& %39,200m" x50% 49,000
DN EZEALESEUSHFTAD A MAAIZS S 145,000 250,000 A 105,000
J| 58,000
< 26,100
Al 60,900
402 QI2H X201 M 145,000 250,000 A 105,000
J| 58,000
< 26,100
Al 60,900
02 2IZE 2 A EZ(OI X TH ) 145,000 250,000 A 105,000
OFTATt A M AFAI S S OH St 145,000
J| 58,000
< 26,100
Al 60,900
DA M2 MACT] DI B A (FTADHA A A BEEH] ) 676,250 817,500 A 141,250
J| 541,000
Al 135,250
403 MtXSHHSA=0l& 676,250 817,500 A 141,250
J| 541,000
Al 135,250
02 S 2SO HEAE R 2 E AL H 676,250 817,500 A 141,250
OFTARH A M AD| BHEH| (S S X7 ) 676,250
J| 541,000
Al 135,250
EEXNSNLEEUS N2 (SSERS(QUL) MAAL 59,968 155,000 295,032
s
J| 23,987
Al 35,981
402 RI2EX=201 A 59,968 155,000 A 95,032
J| 23,987
Al 35,981
02 QI EAILS EZ (01X S) 59,968 155,000 A 95,032
OSEXHS(U&)MMUALS S 59,968
J| 23,987
Al 35,981
EEXNSNLEEUS N2 (SEHS(HA, sX, &8 6,461 7,983 A1,522
Ig) MAUAAL SEUsH)
J| 2,584
Al 3,877
402 RI2FX=201 M 6,461 7,983 N 1,622
J| 2,584
Al 3,877
02 QI EAILSEZ (OIS ) 6,461 7,983 N 1,622




SH RO D

X ZH: =
(=2 I

kel ot

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OSSAS(HA, A2, IF)ULANLS U 6,461
2l 2,584
Al 3,877

H=ICT S5 = 4,926 0 4,926
2l 1,970
887
Al 2,069

H

402 212t A= 01 & 4,926 0 4,926
Il 1,970
887
Al 2,069

H

02 (I 2 ALEX(0OIETHR) 4,926 0 4,926
Otz ICT =& &&XE 4,926
1,970

887
2,069

=z Hn Y

=4 6,617,840 5,914,493 703,347
2,869,944
271,000
454,560
3,022,336

=MW

ASA=HAE 163,930 163,930 0
163,930

H

301 LEIENZ 163,930 163,930 0
163,930

H

12IJEEd=s 163,930 163,930 0
jo:]

163,930, 000& *100% 163,930
163,930

H

SIBUZXNIA(EX) 3,195,440 3,195,440 0

2,009,000
Al 1,186,440

H

402 2I2tXtE2 01 & 3,195,440 3,195,440 0

2,009,000
Al 1,186,440

W

HEZ(OIMTHE) 3,195,440 3,195,440 0
2 XNEAY 3,195,440

2,009,000
1,186,440

= N

EUMSRA(2F) 1,015,420 1,015,420 0
659,814
177,803
177,803

= N W

402 QIERHE= 0| H 1,015,420 1,015,420 0
659,814
177,803
177,803

= W




A F0aS

SH: s AW 23
©el: HBRSUSY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 1,015,420 1,015,420 0
OELMEHM XA 1,015,420,000& *100% 1,015,420
= 659,814
< 177,803
Al 177,803
S =X A (KA 436,000 456,000 220,000
307 21201 A 30,000 50,000 220,000
02 QB AANGFEX 30,000 50,000 220,000
Ozlazas A3 =0t XA
1,000& %60, 0002t BF*50% 30,000
402 RIZ2EX20l ™ 406,000 406,000 0
01 RIZt Xt 2 AL E = (REMTH &) 406,000 406,000 0
O adsgy SEXNM N3 A
400,000,000 *50% 200,000
O edsatEs MaDer &t X3AY
200,000,000 *50% 100,000
OB (AE=H)=J1H XNEAE
100,000, 000& *50% 50,000
OFHISE dFHNZ oA
112,000, 000& *50% 56,000
ASF=sHEHS(EX) 191,823 191,823 0
< 57,547
Al 134,276
201 Let24E] 5,000 5,000 0
S 1,500
Al 3,500
01 At 22l 4,097 4,097 0
O&etd RII=sg8 54 NS
4,097,000& x100% 4,097
< 1,229
Al 2,868
02 =224l 903 903 0
OEF RIsY 4 UMY
903, 000& *100% 903
< 271
Al 632
301 LBEAZ 186,823 186,823 0
< 56,047
Al 130,776
12 JE2d =3 186,823 186,823 0
Oz edsitE st E NEAEY
73,543,000& x100% 73,543
< 22,063
Al 51,480
O&letd RIIsg8 54 KNS
113,280,000& *100% 113,280




2N

SH: s AW 23
ool AEIsYSH (29l & 2)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 33,984
Al 79,296
ASdsbgrs(EBX) 111,360 91,210 20,150
< 32,960
Al 78,400
307 glz2tol & 111,360 91,210 20,150
< 32,960
Al 78,400
02 (It HAMHEE 111,360 91,210 20,150
Oz edsitE FS4H 0HAHE X 111,360
< 32,960
Al 78,400
GAP OtE N 2AXA(EX) 60,000 153,670 A 93,670
= 30,000
< 9,000
Al 21,000
301 LeBA S 40,000 50,000 A 10,000
= 20,000
< 6,000
Al 14,000
12 JIE 243 40,000 50,000 A 10,000
OGAP Q1E =0t o8 A ZAHl K& ALY
40,000,000 x100% 40,000
= 20,000
< 6,000
Al 14,000
402 RIZEX20l ™ 20,000 96,670 AT6,670
= 10,000
< 3,000
Al 7,000
03 212t &AL S HI 20,000 96,670 AT6,670
OGP EX/24 2t d 24X
20,000,000 x100% 20,000
= 10,000
< 3,000
Al 7,000
NS =HSHSH(XHA) 9,000 9,000 0
202 044l 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
OFSd=sgy PRFX oHl(F3aAs )
50,000& 63| * 10 3,000
301 LEEAZ 3,000 3,000 0
09 HALAHIX RS 3,000 3,000 0
OrRePse(sY) DSEA
30,000& *23| *50H 3,000
307 glz2tol & 3,000 3,000 0




2N

SH: s AW 23
oo AEFSASH (B9 ®R)
= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
12 2ol nN=E 3,000 3,000 0
OEY RIsY HR2LS
100, 0003 152 *23| 3,000
I sLUMAA(BEX) 18,000 18,000 0
= 7,200
Al 10,800
402 QIZ2HXHE01 M 18,000 18,000 0
= 7,200
Al 10,800
02 QI EALEZ (OIS ) 18,000 18,000 0
ORIIsLAM X& AL 36,000,000 «50% 18,000
= 7,200
Al 10,800
dEtdsgy AAD|E g XA 600,000 600,000 0
301 LEEXS 600,000 0 600,000
12 JE2 43 600,000 0 600,000
Ozsdsdy =JIEdlE X&
300& *2,000, 000 x100% 600,000
s#Zdstd s XA 26,667 0 26,667
< 8,000
Al 18,667
402 RI2EX=201 A 26,667 0 26,667
S 8,000
Al 18,667
02 QI EALEZ (01T ) 26,667 0 26,667
OgZdsad s X 44,445 000& *60% 26,667
< 8,000
Al 18,667
sl =s 722,700 0 722,700
s 271,000
< 135,500
Al 316,200
402 212t X201 & 722,700 0 722,700
s 271,000
< 135,500
Al 316,200
02 2IZt X2 AL EZ (OIS ) 722,700 0 722,700
OXBASY JIBRE ALY
903,375,000 *80% 722,700
s 271,000
< 135,500
Al 316,200
GAP &L AtHl XI& 67,500 0 67,500
< 33,750
Al 33,750




A F0aS

SH: s AW 23
ool AEIsYSH (29l & 2)
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 67,500 0 67,500
< 33,750
Al 33,750
12JEEd=S 67,500 0 67,500
OGAP 1 E & AHHl XI& 67,500,000 x100% 67,500
< 33,750
Al 33,750
n=s=1I &3 2,875,753 2,522,567 353, 186
2 30,068
< 1,269,805
Al 1,575,880
Eami=gapNi] 2,875,753 2,522,567 353, 186
= 30,068
< 1,269,805
Al 1,575,880
sugal XA(BX) 2,626,168 2,379,084 247,084
< 1,255,325
Al 1,370,843
307 glz2tol & 13,862 6,610 7,252
< 4,152
Al 9,710
02 It M AMHEE 13,862 6,610 7,252
OHEHH 0ROl 24 NAAY
413 *495H x240 4,871
< 1,461
Al 3,410
O84s st RSNEAY 8,991
< 2,691
Al 6,300
308 XtXIEHHSOIA 2,468,306 2,372,474 95,832
< 1,161,173
Al 1,307,133
08 WSEII20HetE = 2,468,306 2,372,474 95,832
OXBASMES S DSAXAAL(77HR, 8,45
0g) 314,896
< 148,183
Al 166,713
O3t LAZA NR(E -5 1)(50HR, 7.0
89¢%) 2,153,410
< 1,012,990
Al 1,140,420
402 RI2EXt20| ™ 144,000 0 144,000
< 90,000
Al 54,000
02 QI 2 A EZ (01X TH ) 144,000 0 144,000
OstlgAXJAME A4 - ZH XA 144,000
< 90,000

_20_




EXN: S0 AS D}
Iy DREX 25
chel: S DA CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| Al 54,000
St S A X (XA 81,250 77,495 3,755
201 gEt24y| 1,260 630 630
01 AF 2t 2| H| 1,260 630 630
OBRIAXEA MoIAS BALg
70,000 x9H %23 1,260
307 212t0| & 18,810 15,431 3,379
02 QIZHE AAIE E X 18,810 15,431 3,379
odietstm 24az4a X& 3,300 *30H 190 18,810
308 XAHXIGH SO0l & 61,180 61,434 A\ 2b4
08 W=EJl&otistE = 61,180 61,434 A 2b4
Ostnga 3e & 3502 1901 x9, 200X 61,180
stNgAasEld 40,000 0 40,000
307 QI2t0| ™ 40,000 0 40,000
02 AI2tAAMAIE E =X 40,000 0 40,000
Ostugal LA X
20,000, 000& *2J0 A *50% 20,000
OstugAal oMM 2t
20,000, 000& *2J0 A *50% 20,000
st WU 2tAl XA 60,135 65,988 N5,853
= 30,068
& 9,020
Al 21,047
307 gizto| A 60,135 65,988 N5,853
= 30,068
& 9,020
Al 21,047
02 QIZ2IA AAIE B X 60,135 65,988 AN5,853
O ZS=8uWs WU2FA X3AY
1,900 1,055 303 60,135
= 30,068
& 9,020
Al 21,047
22S3ARSKE 50,000 0 50,000
307 2iz2to| A 50,000 0 50,000
02 QIZFA AAIE E X 50,000 0 50,000
OEsaM 2234 SEXNEAMYE
400,000 x200L *50% 40,000
OE=saM 22234 ZTHN XE
20,000,000 x 1Al x50% 10,000
2234 ML AR(EX) 18,200 0 18,200
& 5,460
Al 12,740




2L 2
X FH -
o Tt

el

0l &+ 3t
=ENET
DSAXE

- _ _ RE]
N X8-S (3H) - MEAY - B %Eﬁ HR=2
307 2Iz2to| & 18,200 0 18,200
== 5,460
Al 12,740
02 QI AAIE E X 18,200 0 18,200
OSS4 ZB34 AFSAAY N
130, 000& x1403] 18,200
&< 5,460
Al 12,740
HAHSHAY (K0 AS D) 90,932 88,450 2,482
Jl2&ddl 90,932 88,450 2,482
Jl2dH| 90,932 88,450 2,482
201 et 9| 44 732 43,850 882
01 AR 22l ] 44,732 43,850 882
Ogttf2y| 29,000
O=3&H| 8,832
OdlEge| AH| 60,000& 115 6,900
202 o4 | 40,800 34,300 6,500
01 2Ll 26,400 24,700 1,700
Odagy 228 oyl 26,400
02 EHNHI 14,400 9,600 4,800
OdlEge| HAY| 200,0002 6 x12& 14,400
203 ¥ 2 =&XH| 4,200 4,800 A 600
04 FEASHELFFEH| 4,200 4,800 A 600
OEMNSIg Y28 4,200
405 Ko SHI 1,200 5,500 A 4,300
01 XAt 2 Z F S| 1,200 5,500 A 4,300
OO0l HEUig oAX 7 150, 000& *8IH 1,200
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